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1747-274-PCA-3728-MJID54624.29367_lc.txt / MJID 54624.293671 / burstid=3728

Grey line: exponential fit Peak flux: 2.387+/- 0.051 c/s/cm?
Black line: power law + gauss fit Fluence : 84.57+/- 3.38 c/cm?
Dashed line: power law i

Duration: 95.85+/- 2.24 s
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; Expon. time: 30.28+/- 1.18 s (chi*-red= 11.01) é
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; Power law fit é
- Power law index: -1.214+/- 0.011 (chi*red= 14.21) 3
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— Power law fit plus Gaussian (st.dev.= 42.28+/- 0.66 s, fracgs= 0.33+/- 0.01) =
- Power law index: -1.488+/- 0.048 (chi*-red= 10.62) 3
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